| A-770N [T

REVISIONS RELEASED |
REV BESCRIPYION DATE APPROVED,
L [0567-02{ REDRAWN; ADDED ITEM 11 02/06/04 (s
5.13
4.562
VENT (LOC OPT)
MAX IMUM OPERATING VOLTAGE 29 VOLTS
PICKUP VIOLTAGE (MAX) 18 VOLTS
N ./x/ 11,5 VOLTS AT -85°F
X@ AN DROPOUT VOLTAGE 752 voLts
2 RATED CONTACT LOAD 300 AVP
B o~ R\t COIL CURRENT AT 25°C 4 AP Al ? l>m
g o mw MINIMUM OPERATING PERIOD 3 HOURS ﬁ
: MINIMUM OPERATING CYCLES 50,000 “
< wmllw MAX IMUM WE | GHT 1 LB. 15 0Z. v i v
M.
RATED DUTY CONT INUOUS
u.wmmw“m%.\ AUX, CONTACT 10 AMP, 28 VDC
(10) 2 MIG. HOLES _
SPOTFACE @.44 - SEE NOTE 2 .
O O
X1 X2 12
e
1032 UNF-2A
3 STUDS 000
\@ 111 1 ] 39520-001 [ OVERLAY
= 101.2 | 51200-020 | SCREW _~ NO, 4 X 1/4 SHT, METAL ST.STEEL
% _ _ g 1. 3.151810-054 | WASHER - 1OCK, NQ, 10 RON
= | 8 1 2 | 51807-084 | WASHER - ,688 X 3/8 X ,(94 RON
g 712 151704-024 | WASHER - 5/8 X 25/64 X ,062 RA
= g 6 | 3 [ 51702-84% [ WASHER — 3/8 X 13/64 X 037 BRASS
\@ 513 150410-084 | NUT - 10-32 X 3/8 X 7/32 HEX BRASS
4 | 2 150407-164 | NUT - 3/8-24 X 5/8 X 7/32 HEX BRASS
3 604300 AMEPLATE
2 4520060 | CONTACTOR ASSEMBLY - PRIMARY
! _— 1 0403-004 [ PLATE - COVER
) ’ Fing | ary PART R ROMENCLATURE OR FSCU | DRAWING OR | WMATERIAL
NG [REQD | IDENTIFYING KO DESCRIPYION N3 SPECIFICATION | OR NOTE
NLESS OTHERWISE SPECIFAED ﬂﬂ mn
TOTIOLERANCES ON ALL TERMINAL LENGTHS TO BE £.08 hsa Ha ﬂm .
. INAL LENGTH £.08. M Hortmorbiviaton.175 k. :
£ SRRIAC RS B el i 1 RN Lol
SPOTFACE TP OF MOUNTING HOLES @.44 S ERIAL S CONTACTOR - CONTINUOUS DUTY
AR ] 300 AMP, 28 VOLTS 093
SIZE WG 1O .
s A~770N
SCALE 1/1 | SHEET REF TYCO P/N 3-1616058-3




